Simple Interest 2011-2019 Compilation

148. Find the Simple Interest on Rs. 5,000 at 10% per annum for 5 years

A) 3500
®) 5000
vj\ 2500

| D) 2000

2156 ap. 5,000 6@ 10% culllg 655586 5 BB EEHEE H6ifl cul_y cTemmen?

(&) 3500
(B) 5000
(© 2500

D) 2000



33.

- 96.

Simple Interest on € 1,000 at 10% for 2 years 18

(A) % 1,000 : £ 200
© T100° (D) T 2,000
£ 1,000.10% aui_ty afsib 2 pan@sEsEE s o’y |
(A) % 1,000 " (®) %200 '
@ %100 (D) = 2,000

The simple interest on % 7,500 at 6% per annum for 8 year is

(A) 4,200 ‘ @ 73,600

© 2,800 ' D) T 3,400

<R i 6% saflan iy el 8 spanBHaafie @',7,500—$5rra'r-5a‘ﬂa.u'_lq. GTesTan?
A T 4,200 | (B) 3,600
(C) ¥2,800 (D) ¥ 3,400



27.  What is the simple interest earned on Rs. 20,000 invested. 3 month at a rate of 5% per

annum?
T 250 (B) =100

() 125 '_ : (D) T500

T 20,000 4@ 5% ([ auly eigsHd 3 WIFRSERSE safl Uiy WTg?
(A)  ¥250 ) ' (B) T100

(© T125 . (D) T500



197. Find the simple interest on Rs. 8,000 at 7% per annum for 1 year 6 months,
(A) Rs.730 (B) Rs. 800
@’ Rs. 840 (D) Rs. 715

@. 8,0006@ 7% auliy. 6igid @@ eusLibd 6 wIFRsERsaTE el cul iy Eramns.
(A . 730 (B) e 800 ‘
©) e 840 D) @ 715

60.  Find simple interest on Rs. 10,950 for 42 days at 10% p.a.

(A) Rs. 118 (‘B). Ra. 74
-\ Rs. 126 (D) Rs. 108
. 10,950 aranp oe@E@ 42 prisdid gamide 10% ey @@pu&]@ fen_&G@D cullg
ETEUGLETEY ? : .
(A) m 118 B m74

© @126 - D o108



158. Find the simple interest on Rs. 1,000 from April'9, 2010 to June 9, 2010 at 71% per annum. -

7.1 Re. 12.74 " ® Rs.1250
© Rs.13.07 . (D) Re.1350

aoLifie Ti%eis 8gsHe gure 9. 2010 wsé gO& 9, 2010 g
. l,mﬁﬁﬁsqmgaﬂ@i.tq.ung? _ _ ‘ .

@A) 1274 | ® @ 1250

© @ 13.07 | | @ @ 1350

g}. What will be the simple interest earned on an amount of Rs. 16,800 in 9 months at the rate
of 6%4% p.a.?

(A) Rs.697.75 y/ Rs. 787.50

(C) Rs. 567.30 . (D) Rs. 897.60

m. 16,800&@ 9 wrgrisalic gpamBias 6%4% anliy eiglig Ha_sgn ,saﬂéu'_lq_
@) @ 697.75 (B @ 787.50

© . 567.30 ' , D) @. 897.60



46.  The simple interest on Rs. 10 for 4 months at the rate of 3 paise per rupee per month is

4) Rs. 210
() Rs.0.80
Rs. 1.20
D) Rs.1.50 ‘ _ _
- 104 prang LrgasEEE Lrgh mumiss 3 eust gaflauy digiug seflalguneang
(A) @ 2.10 ' ' '
®) . 080
©€) 120
D) . 150

148. The simple interest at 5% per annum for 5 years will be Rs.5 on a principal of

) Rs.5
'(B) Rs.500
(O Rs. 200

V@{ Rs. 20

B =g HE 5% sefleul 1ty &g 5 %&T@E@é@ sefleullg. ¢5. 5 aTafldn asaﬂeﬁr w4 uﬁ wimg;?

@ 5

® @50
© ®20
@ .20

179. The simple interest at x% for x years willbe Rs. x on a principél of

(A) Rs. x \9/ R, 100
. N - x

100

x2

(© Rs. 100x | @) Rs.

TG SlFVTS x % safleu 1 &g x ts_u@uéws@&@ . x eram gefleul qemwis S

@ o« - ® @ 0
' R - x
(© . 100x D) . 100

x2



188.  Find the principal that will yield a simple intérest of Rs. 300 in 3.ye'ars at"2% rate of

interest per annum.

\,«( Rs. 5,000

(C) . Rs.2000 - . (D) Rs.1,000

- .{B) Rs. 3,000

@ a(H ey éﬁgtb 2% eigd 3 yamHiag g,d‘fl Qg ¢ 300 A s@n crafld DFmas.
: SIS, | 7
&) . 5000 . ®B) @ 3000

(C) @y 2,000 _ D) e 1,000



141. Abank gives 6% SI on deposits. Find the amount to be deﬁosit.ed to earn an interest of T45
in one year.

@) 450
@’ T50
© 21,000 '

(D) ¥ 800

8m a.nmeﬂu.ura@ aulys G,srrmu(g 6% sefleuriq mgm@élmgj @(r_r; Gu([r;l_;s@m@ e’ lg
T 45 HeLs5 crdiaae) ealiLs@gims Qsgiss Gmm@m eTend STERTE.

(A) T 450
(B) % 750
© _t‘ 1,000
(D) T800,
59. The simple interest on a certain sum for 3 years at 14% per annum is Rs. 210. The sum is
(A) 480 (B) 600

- M 500 (D) 630

@[ ULty 14% erameyid epamprer(Haaiey ¢ Qsranauier el . o. 210 erafler oihg Qsrens
A) 480 (B) 600
(C) 500 (D) 630



>
76.

A certain sum of money amounts to Rs. 6,372 in 3 years at 6% on simple interest. Find the

principal _ 7
(A) Rs.5,000 ‘ . (B) Rs. 4,500
VW Rs. 5,400 . © (D) Rs. 4,000

83.

119.

20 GO Qg;rrmasu_mng 6% g,snﬂa.u_tq_ aﬁ',@g)gﬁ]w 3 @J,m@asaﬂa) o 6,372 o fing eafld

SIENEVE ST

A . 5000 .. B w4500
© @ 5400 , D) @ 4.000
A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the principal
@ Rs. 7,200 (B) Rs. 7,000
©) Rs. 6,200 (D) Rs. 7,300
@@ GHUALL Qgrenswrearg 8% aul iy aigsHa 5 arhaafld m. 10,080 fng). Sigmed sremrs.
(A) . 7,200 (B) em. 7,000
(C) 5. 6,200 D) . 7,300
If a certain sum of money amounts to Rs. 16,940 in 6 years at 9%, with simple interest then

find the principal amount

(A) Rs. 11,500
Rs. 12,000

\,(BO/Rsn,oom | o - N

Rs. 11,900 ' E -

@m GHUSLL Qgrrma;u.lrrsmg 9% gafl auliy cigsfler 6 pamhaaiad m. 16,940-4dpg erafle,

DIENE ST,

A @ 11,500

® 12,000 o

© ¢ 11,000

® o5 11,900



154.

50.

44.

A certain sum of money amounts to Rs. 20,160 in 5 years at 8% interest. Find the principal
(A) Rs. 14,000 _ (B) Rs. 14,100
()  Rs. 14,440 o wf Re. 14,400

2 GHUALL dgrenasuraig 8% aulig eigsfle 5 gpamBsaiia o 20,160 fps. Jsme srans
(A) e 14,000 B . 14,100
© 14,440 (D) . 14,400 °

What will be the amount a man would get, if he invests ¥ 10,000 at 9% per annum simple
interest for 3 years?

A) 12,500 (B) 11,800
(Cﬁ/ 12,700 (D) 12,000

gner T 10,000 g aminE 9% sefluly efssdd wam AHTOsEREE WSSEH Qewigme
DHUBHES HenL&@LD orss Cstas ereieuere,?

(A) 12,500 B) 11,800
(C)‘ 12,700 D) 12,000

Mala invested Rs. 5,000 for two years at 11% per annum. Find the total amount -received by

her at the end of 2 years.
(A) Rs. 5,100 (B) Rs. 6,200
&7 Rs. 6,100 D) Rs. 5,200

wrer eamgH@ 11% ey eaissde mp. 50008 @Qranm® waTRsERsE WPsSH Ceudempmi.
Qe ey e (Pigedléd Sjeu QUMb CTEsS AgTasmuds STarTs.

@A) 5,100 B) . 6,200

©) . 6,100 (D) em. 5,200



64.

" If Ramya needs £ 9,00, 000 after ten years, how much shwld she mvest n.ow, ina ban.k pays

20% simple interest

“{A)  ©2,00,000 - \A(ta,oo.ooo o

(©  74,00,000 . : (D) ¥5,00,000

usg ..-_lel,m'q.;bgu e umu.ms&]m@, % 9,00, 000 Gﬁmmuu@ﬂmg il q,ﬁh-q.mg 20% gaﬂsul._lq_
Sefb@D akdlo, owun seare Lisans Qegiss Ceuan®b?

Aa = 2,00,000 . (B) ¥3,00,000

(C)  €4,00,000 ' - (D) %5,00,000

-w “
35. If an investor wants to receive Rs. 10,000 as simple interest every month and rate of
_interest is 8% per annum then the amount he should invest is ‘

(A) Rs. 25 lakhs (B) Rs. 20 lakhs
W Rs. 15 lakhs - (D) Rs. 8lakhs

"B Q,o§a§'|'_|_“rrmfr Agd LorrgLE gafl aulqwirs @b 10,000 Gup sﬁ]@mueﬂgprrr'r. iy 655 ARG
8% erafié ieu apged(® Galw Geauamgw Qgnens eramar? -

(A) . 25«led ] (B) .20 0o
©) m15alisbd ’ (D) m-8aLsbd
99. Vijay invested Rs.10,000 at the rate of 5% simple interest per annum. He received

150.

Rs.11,000 after some years. Find the Number of years.

(A) 3years 2 years

(C) 4years D) 1year _

aflggus ¢5.10,000 g 5% aul iy eSssdler anauiy Hlwnss Qegisgflpni. assmen yamBsaficr
11,000 emumenws Sjeu QuimieumT?

Q) 3 garpsafler B) 2 gyan@sefle

©) 4 gan@psaile D) 1 yemrge

A sum of money increases 5 times its pr1nc1pal at 8% per annum over a certam year. Find

" the number of years . .
@ 25 @50
© 15 (D) 100

g@ @;ﬁ]usﬂh_l_ Ogrrsna;u.lrrmgl flew m@l_rala;aﬂw 5 wl_rsl.srrﬂgpgu <DISHEAT G!JI_lq. aﬂeﬁl,sm 8% erafled
TSpenet amLBisaild 5 o RisTELD

A) 25 ' . ® 50
© 7 _ - (D) 100



129. At what rate of S.I Rs. 4,000 will amounf to Rs. 5,000 in 4 years?

ol el ® e
© 5% : (D) 6%

5. 4,000 yeng 4 yan(aaia . 5,000 <3 8pg erafler samefL L L safleu g 6B wng?

@ 6% S ®) 6%
- lo . l_ R : ) ' . V . .' 30- . : . . . . '\.
(C) 5;_/" - (D) | G'ZAJ o . -. .

197. Find the rate of interest per year of the following details. Amount Rs. 2,000, year = 2 and

simple interest Rs. 120

«(\ 3% , B) 2%

©) 1% D) 5%

5. 2,000 @ 2 e D sefl euliy o5 120 crafled pemm(Bé@ auliy s eraieuarey?
A) 3% B) 2%

© 1% . (D) 5%

41. The rate percent per annum, when a principal of 7,000 earns a simple interest %
1,680 in 16 months is

(A) 8% \6 - 18%

©  16% . _ ' D) 15%

16 mrrgrma;@a;@ (l_.p;cﬁ@ Qecwiule e T 7,000 —5@ G]up)uuu_ GU@erpﬂl;r Errgm;fmr
iy 5@smems T 1,680 aafle, apam() cut tq s5eigh aamig '

A) 8% : B) 18%
© 16% ) T D) 15%



60. Find the rate percent per annum when a principal of Rs. 7,000 earns a Simple interest of

Rs. 1680 in 16 months

\/ 18% ®) 8%

c) 12% D) 10%

5. 7,000 Disan&i@ 16 wrsmis @@ . 1680 seafleul iy lan_ggme, cul g eigsmad sam(H Gy
A 18% B) 8%
© 12% D) 10%

95, A sum of Rs 1,600 gives a smlple interest of Rs. 252 in 2 years and 4 months The rate of
interest per annum is

3 ‘ . 1
— 12=%
@ 102% ®, 12
-1
# | O 72%
1 - i

m. 1,600 & 2 aumLrkisdr 4 omghisafic .ﬁml_.i;@ﬁ paflai’y @. 252 arafler gpan® e’y efg

3 : 1ol
= 12=%
@ 10-% o ® 12o%

- 1
© 6%% o @ 7%



64. At what rate of simple interest a certain sum will be double in 15 years?

@A) 6%% | (B) 5%% T
© 52% o o2 -
3 : 3

0] '@@ﬁnﬁ]u_ Qgrenswreng 15 eumprmsafle @rlgliureusna, ereflw QJL@ el 51D

GTETT? |
@) '6—1?;% ‘ ®) 5%%
© 5% | (D? 62%

196. At what rate of interest a sum of money doubles itself in 10 years in simple interest?

A 10% ®B) 20%

© 50% (D) 25%

@m Osreswuras salally weopuld 10 am sHod @rigluns s el e
erevanelna @) Hés CelemHib »
A) 10% B) 20%

©) 50% D) 25%



198. At what rate of simple Interest a certain sum will be doubled in 10 years

62.

A  20%

B 8%

W\ 10%

®D) 15%

2m eHudl L Uarasureg 10 m@@m‘usaﬂs‘o safl aul g eped Qriigliuing CeuarT@Lomammed aul_ig.

NG erenamauns QmEs: CouarT@ib?

@ 20% '
® 8%
© 10%
@D 15%

If a sum of amount double in 9 years then the rate of interest per annum is

1 1g
@ 95% (B) 105 %

o n;',-% ®) 12%%

am Agrans 9 cumLseafld @riguurdamg aefld, ey, eilflgorearg

(A) 9%% : ®) 10%%
1 1

-0 =9
(C) 119/6 D) 1-9/6



94.

-D4.

At which rate of simple interest, will the amount be twice in 20 years?

@ 4% _ N

(C)  6.66% . _ D) 3.3;?%

Bmug e hiseficd ;5rr|.:o Qeguign Agres @@ wLmsTaNd gail Wiy GHEsD adaruns
Bosed? - | |
@ 4% . (B) 5%

(©)  6.66% ' (D) 3.33%

In how many years will a sum of money doubles itself at 8% SI per antum?
) 1 ' 1
12—2~ years . (B) 13§ years

(C) 14 years (D) 15 years

@ Qgreans 8% ﬁ,ﬁ'ﬁ@ gafleul . apenpulled Gy iq s orm eTsenar %aﬁs@@ﬁ NG
@) ‘_12% LT ®) 13% S~

C) 14 aumLrugdr - (D) 15 cugprusar



53,

© 90,

/m’ % ' | ® 1
o 20 - ‘_ R

How many years will take certain amount to double at 8% interest per annum at simple
interest? - '

(A) 13% years \Br 12% years

(C) 107, years ' (D) . 9 years

& Ggres amadE 8% gaflaly g5 @islgrasamuliCurd @@ wLksTpg crafld

T(DEHIG QEmerEnid smath
(A) 13% SR B) 12% Sy
© 10} syenpadr M) 9 yan@sar

A sum of nioney doubles itself at 61% per annum over a certain time. Find the nhmber of
vears : ‘ '

(D) None of these

. apgewer yehaaiio g efiLGiL 5 63 % aulquie> @@, m;rﬁ:gv%m ?

@ 1 | L ® 14

(0). 20 - O Gopafusipiie aged Gawe



127,

31.

] ]

@ - e yangan

(07 10 syeinadr

_ In how many years will a’sum of mqnejf double itéelf’ﬁt_ 20% -siﬁlplg interest? .

R (&) -dyears .- .' _“'WSyéars_‘

(©" 10years . 0 . . (D 20years. -

: 9@ G}grr@_.vsiu e 20% gsaﬂén_'.‘u} aisge arggemer %swr@mﬂm @@wurﬁjaﬁ@m? C

(B) 5,%.“7@5@1

) 20 %;w@m

A sum of money triples itself at 8% simple interest per annum over a certain time. Then the
number of years is '

(A) 30 B) 15

" 25 D) 10

@0 GHUALL siswneng) 8% cul iy issdle) apenm wLksns oT(HSFCHTET@RD 6T (Hiaer
A) 30 (B) 15
© 25 (D) 10



185. The principal amount triples itself at 8% per annum over a certain time. Find the number of

years.

(A) 20 years

M% years

(C) 30 years

(D) 35 years

@M GHUILL sserang 8% cul iy eissdle assman amHaafle) eperm L RSTELD eTars sreams?
A) 20 eumLmser
B) 25 aumLruser
(C) 30 eumpLraser

D) 35 aumLrser

120. A sum of money tnples itself at 8% per anoum over a

certain time. The time tsken is
(A} 20 yvears o (B) 22years . :
_ W 25 years : . _ (D 30 years

(T @gﬂuﬂ:_l._ qgwasnrrsu@ .;gj,mr@.s@r, 8% auliq sSg5dla
Ay 20 .:%m@am :
(©). 25 e (RmeT

@sngu WL BISTNGUSHE L‘Eieq.sgg,m &manh
B 22 gyanpear
(D) 30 gpemr@sen

32. A sum of money triples itself at simple interest 8% per annum over a certain time. Fin&he
number of years. '

(A) Syears . ‘ S (B) , 15 years

(C) 23 years ‘ ) M 25 years

@0 il Gl,srrma;u_lrrmg; asg@ar umLkisafls - 8% gsaﬂml_q. dizgdléd apengy wLRETS
SPsNEG0? ' '

A4 Baumrser - . B), 15 aumLrisar
©) 23 aumLiiisar - D) 25 eumriisdr



119. A sum of money triples itself at 8% per annum over certain time. The number of years is

59.

equal to
@ 24
& 25
© 20
® 12

ahgamen e BT pr.ciled @@ GHINAC L éqs@rrargj 8% aul . Szsdled apemg oL fisTEGLD

@ 24
® 2. |
© 20 | o :

™ 12

A sum of money triples itself at 10% interest per annum, over a certain time. Find the
" number of years : '

(A) 10years Le®r” 20 years
(C) 25 years ' (D} 15 years

& @O o Fameng) 10% @R 'l e5p5Hd arssmen e Raefli apenm wLRSTED?
Ay 10 sperBadr o (B) 20 ey@n@aer
(©) 25 sy@n(se D) 15 o arPadr



98.

-182. A sum of money triples itself at 10% per annum at simple interest. Find the number of

years

(A) 25 years

‘ﬁf 20 years

{C) 30 years

D) 15 years

R @gﬂuiﬁh_l_ @ﬁﬁ@&u.ll‘l’ﬁb‘lgl 10% safl aut g cifigsHer apenm mum&n«ﬂmg erafler ympasaiicn

aToRTeRiSen s SmeR s,
®) 25 syen@aer
B) 20 ayen@aar
(© 30 ayer@sdr

M) 15 syerGiser

197. A sum of money double itself at S.I. in 10 years. In how many years would it be triple

itself ?
(A) 30 years (B 15 years
(C) 25 years @D 20 years

R Osreoswunerg safluiy afssGd 10 yaw(Hsefe
Q)moL_msrarmed H5CFTwE  HCH  safleu iy oFH5F6e0
(PLDLOL_RISFTE 6T(HS SIFO)HTET@HLD FHTGULD GTGH GO ?

(A) 30 eu(HLsAisHET (B) 15 euupL_riusser

(C) 25 eu(mL_rsiseir (D) 20 eu(HL_rhiseiT

At simple interest, a-sum becomes 3 times in 20 years. Find the time, in whlch the
sum will be double at the same rate of interest.

(A) 8year 10 year

(C) 12 year (D) 14 year

safl ailypuie em Qsrens 20 aumLgdle 3 wLmsréng, Cs Qg,.rrma; <188 el igulld
GTeUGUETE HTSS @ Te () LOLBISTELD.

A) 8amLwd ~ (B) 10 eu@pLib

©) 12 aumrid D) 14 auLid



130. A sum of money rises four times itself at 15% per annum over a certain time. Find the

®B)
I \‘9/ 20 years

84.

number of years

' (A) 10 years

15_years

@D 25 yéars

R GO L sy FTaRIE 15% et i efissHd ﬂgﬁmm et paafieh preng wL_msngh? .
@) 10 gen@ssr |

®B) 15 yewBaer

©) 20 gyen@asr

(i))' | 25 ayan@adr

Find the rate percent at which a sum of money becomes % times in 8 years.

@) 12% l"_ | ﬁ(f)%%

© 6% . (D 24%

G(H é{ata)rr@rrgj 3 aupL-GHld % 0L RISTE @G ELafl i5e el iy eflfgb ereseuaray? ‘

@) 12% | L ® 5%

© 6%% | o @) '24%



36.

Simple interest on a certain sum is % of the sum. The rate percent, if the rate

© percent and time (in jrears) are equal, is

(A 6% o 8%
© 10% D 12%

T G]g,rr@&é:asrrsm seflauliguimeng  HgEsTensulen % DL_B&ETS o Geng), (ELb@JLb
eIl g LITang Sre BieTelhE FLW0ns BGHEND Sibs 6ull. eréiaeme,?

@ 6% ® 8%

(C) 10% . D 12%



4 : 119 ol :
147. The simple interest on a sum of money is T of the principal. Iind the rate percent and

time if both are numerically equal.

A)
(B)

)

85 %, 85 yrs.
7%, 7 yrs.
7l2%, 7% yrs.

8%, 8 yrs.

@m GHUALL Qgrensuier safleu qwneang gelan % OL&&E F00. Ul igeispbd, au(HLpLD

eream S s G HEEGDLCUTE ULty 6IFGMSWID auHLSHMSUID SHTeT.

(A)  83%, 8% aupLraser
B) 7%, T eu(mHLiseT
©) 71%, 71 eumriser
D) 8%, 8 cumLrmsar
C , ’ 1t . o
8. Simple interest on a. sum of money is % of the principal and the number of years is equal

to the rate of interest per annum. Then the amount after 4 years will be
m 1.08 times the principal

(B)
©

) -

Twice the principal
1.21 times the principal
1.81 times the principal -

(@ &&Q}Es@jrﬂm gaflen’ iqmang  DieusFlam 2—15 wLEfDE sob Gogib  wumLsan

.
- ®
©
®)

eranrenflgengub &R el iy sigpd s erexlléd 4 yehrHaafien (_Lplq_sﬁ]di Qan_é;@Lb Qarenswireng

gl Gurd 1.08 Lk
SiFanarl Gumd GlmbLrkiE -

sigane Gured 1.21 io_mig

~ @iseals Gure 1.81 wLkig



76.

- 738,

148.

A certain sum of money in simple interest scheme amounts to ¥ 8,880 in 6 years and
T 7,920 in 4 years respectively. Find the principal and rate percent
M Principal = 6,000, rate = 8%
(B)  Principal = 6,600, rate = 8%
(C)  Principal = 6,000, rate = 7%
(D)  Principal = 6,600, rate = 7%

@0 GHUELL Ssarag safl ally Sssdd 6 gardaaie T 8,880 wysab 4 Hyam@saio T
7,920 gyseyb LIMEDF crafle) Bige WHYID QUL iy S5HMSEH SRS

(A) =86 = 6,000, aul_ig 651 = 8%

(B)  =is® = 6,600, cul g 6igid = 8%

(©) =86 =6,000, cul_ig 655D = 7%

D) @86 = 6,600, eulig eS5id = 7%

A certain of money amounts to ¥ 8,880 in 6 years and % 7,920 in 4 years respectively; Find
the rate percent (Assume interest is simple interest).

A 10% B 12%

© 15% _ ‘ qa( 8%

20 AL L msorag 6 eu@L_Lo wppibd 4 eugriusaiid paplu T 8, 880 wppn T 7,920
élmw(g@maﬂm DIG6N GlJl_lq. &gssﬁgsgmg SIS (Gul_lq. peop gaﬂ Gl.ll_lq. eran Qaanmas)

@) 10% » ® 12%

© 15% - | | O 8%

A certain sum of money amounts to ¥8,880 in 6 years and ¥7,920 in 4 years respectively.
Find the principal.

(A) 12,000

B) ¥6,880
M 26,000

(D) ¥5,780

@ GAUA_L sseneng 't ga@@said T 8,880 gsab 4 gyar@safd ¥7 920 gsayb wImEng
aafléy BiFmad HTaEms.

(A) - ¥12,000
B) 6,880
(C) 6,000

D) ¥5,780






180. A certain sum of money amounts to Rs. 10,400 in 5 years and Rs. 9,440 in 3 years
_ respectively. Find the principal. ' '

(&) Rs. 6,000
w Rs. 8000
~ (C) Rs. 9,000

@) - Rs. 10,000

66 GALOLL Ssorag b erHsde @ 10,400 asab 3 oem@seio @m. 9,440 spsab

‘ g wrafier isd wdli
A) . 6,000
®B) @ 8000
©) . 9,000
™ ® 10,000 .

94. A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years,

" The sum in
M 698 . ®) 769
() 816 D) 5%

@0 dgrasse  sefleuliy @a)l.b 3 gpar@seiid deLsgd Qursssdsres @815 whpb
4 y@rRsaier AeLs@ b Arsss5AsTas @m.854 aafld wpagdgnms wrg?

(4) 698 , B) 769

(C) 816 _ D) 595



. .

152.

A sum of money at simple interest amounts to Rs. 815 in 3 years and to Ra. 854 in 4 years.
Find the sum

(4) Res. 650 ' | (B) Rs. 690
pf Rs. 698 ' (D) Rs. 700

P G,srra)a; gafleu1nu9d 3 syar@aaia @m. 815 saub 4 Q,sm@saﬂm 5. 854 &®§mmﬂmg.
2iHAGTDEM LIS HTRTE

(A) . 650 : B) .69 .
(© 698 ' D) . 700

A certain sum of money lent out at sm:lple interest amounts to Rs. 690 in 3 years and
Rs. 750 in 5 years. The sum lent is :

(&) Res. 400 ®) Res. 450

(C) Rs.500 o Rs. 600

sngmren e yiE AETRESLILLL G AsT@sunag apan amsaid @ 690 sysand ®hHs
anBsafa m. 750 yaapd apdisd sen_Sng srafld oibs Agnes

Ad) @ 400 ’ . B) . 450
©C) o 500 ‘ D) m. 600



196. Rs. 800 amounts to Rs. 920 in 3 years at snmple 1nterest If the interest rate is mcreased by -
3% it would amount to- , oo - .

(C) " 'Res. 1,882

‘@) R 1,182

. 800 ey,ang.: g,aﬂmn_tq. aﬁgg,élm 3 %m®5aﬂm @ 920 oyfing. oiper a.n_q sﬁg,m 3%
aﬁ&rﬂ&&uu@w@ur@ a@gamnmg?»%m(ysqﬂw @D Ggrrema; o

@) @.;,092: L ! o )
(B) '@5.992' |
E (C),‘_»- @ .17,882.

® 1,182

63. Rs. 800 amounts to Rs. 920 in 3 years at simple interest. If the interest rate is
increased by 3%, it would amount to

(A) %1056 B) 1112

© T1182 . & <992

. 800 pang) safleuiguded 3 aupLgdlev en. 920 o fmg). eumL ey 3% 2 wWiGsLLL LT
2G5 sragsle oL &Eb QsTams ereuaiare,?

(A) - T1056 B) 1112

(C) 1182 (D) %992



Two equal sums of money were lent at simple interest at 11% p.a. for 3%years and 4% years

xjeshectively. If the difference in interests for two periods was ¥ 412,50, then eacl} sum is
(A) ¥3,250 (B) T 3,500
(C;/ ¥ 3,750 (D) % 4,250

@@ Qsmes @TeHE 11% sy lfgsdd 3 1/2 @J,é&ﬂ@a;@é;@ Qasr@ssiulLg. ACs
<ere) Asrens 268 safaiy Hss8d 4 % AMESEREED QSTHSSIULL S sefleul_iq safler
e9gHwimsd T 412.50 erafler QamHEsLULL (gTams eranig)

A) e 3,250 ‘ ®B) . 3,500

(C) . 3,750 D) . 4,250

The rate of interest on a sum of money is 4% per annum for the first 2 years, 6% per annum
for the next 4 years and 8% per annum for the period beyond 6 years. If the simple interest
accrued by the sum for a total period of 9 years is ¥ 1,120. What is the sum?

(A) 71,500 P 2,000

(C) %2500 (D) ¥ 4,000

@ QsTensssTan auHL Ul lg. (P& @rar(® aubLSHNES 4% Dpseyb AHSS BraE auBLSHDE 6%
QHD QM UBHLEIGEEEE Cd 8% sabd 2.darg. @@ GHMUALL Qgrasssrter 9 cubL
srasdnarer safleu g Asrens 1,120 erafler Hi50sTmsmL HraRT.

(A  T1,500 B) 2,000

() T 2500 (D) ¥ 4,000



61.

=~

A sum of ¥ 2,500 deposited in a bank gives an interest of ¥ 100 in 6 months. What will be

the interest on ¥ 3,200 for 9 months at the same rate of interest?

A) T 200 : @f Z 192

() T180 D) T 210

om andle 6 LIsRsEREE WsSH Aswwiiul L e T 2,500 & ey T 100 daLsdpg
aafle G5 aul iy aigsHd 9 LTEHEEEEE AFw X 3,200 &@ HaLs@WD aully eTeucuaTay?

A) T 200 @) T 192

) T 180 » T 210

Tharun makes a deposit of Rs. two lakhs in a bank for 5 years. If the rate of interest is 8%
per annum. Find the maturity value at the end of 5 years.

(A)  2,20,000 G 280,000
(©) 240,000 - (D) 2,60,000

smer @ra( VL& muUTew 5 AaTHsEHEE @ umduid frbsr malys Al sdd s
Qewdlpmi. Seucumd &L ramée 8% seafleaul g sHAng aafle 5 HarBser wiyeld IjeumeE
Slenr &G Qorss Asnems ereuaiere,?
(A) 2,20,000 (B) 2, 80,000

.. (© 2,640,000 : D) 2,60,000

Vaideesh deposits T 500 at the beginning of every month for 5 years in a post offlce If the
rate of interest i is 7.5%. Find the amount he will receive at the end of 5 years

Ve T 3571875 (B) T 37518.75

(C) 38758175 - 5 (D) T 35817.75

aaifev eranuieut T 500 g éuQeuny rgs: Q;_T,rn_é;as;_'r,,éﬂguto @it AEHFOESHD 5 %G&m@&;@é@é‘c

QE@IQ’;@JG&W{DI‘I’!‘I’ ey aligin 7.5% eraflér 5 @Cbamr@a;@rr Wpigellh =eul Gumib Hgmens smueuerreu?
(A) T 35718. 75 . (B) T 3751875

(C) T 37581.75 ’ _ {I» % 35817.75



157.

T

The rates of simple interest in two banks A & B are in the ratio 5:4. A person wants to
deposit his total savings in two banks in such a way that he received equal half yearly
interest from both. He should deposit the savings in banks A & B-in the ratio

A 5:2 B 2:5

y4:5 D) 5:4

A vomib B < dlu @ran(h cutudlsaiian sefloul néarear euligwneang 5:4 eremm olldlgsdlad o crersg)
Qe sarg  (PsLsTasmwwd @Qrar( emdsaiad ey L el gWTaE FOWS
Qm&Ebuwns ONsg peed® Qeudpmi aafld e psed(h Qelg Qgraswuneag ebs eN&ssH 0
BoseEd

A 5:2 (B)
©) 4:5 D)

(G258 W)
ot

If A lends Rs. 3,506 to B at 10% pér annum in simple interest, and B lends the same to.C at
11.5% per annum in simple interest, then find the gain of B in a period of 3 years.

(A)  Res.154.50 ' . ®) Re. 15550 .
(O Rs.156.50 . \J" Rs. 157.50

M@@ 10% gafleu’ . aiggHle, A srdiuault B aréuanmée 6. 3,600 s._ama adﬂa‘;ﬂdrmm‘f e
Qgreasaw, B e 11.6% gafl aily dSps8,- C TaUU@mESGE LTS aqﬁ&ﬂdnmmr craﬂeo
@Gl'gl q,anr@a;aﬂw B oL yb @a)m.un wng?

(A) m 154.50 _ (B) @m.155.50

© - . 156.50 _ C ® @ 157.50

r
-

If Rama pays Bs 1 000 at the. beg‘mmng af every month in'a post ofﬁoe recurnng deposit for = .
5 years. If the rate of mterest 1s 7%. What 1s the amount Rama get.s ht the end of five years'? o

# Rs62675 . .. (B Rs.72675
©) Rs10675 - . G BRs. 7_9_,675

- i B L -

groen @m@mﬁ@ Lorrg Ggm&&g@@m 5 Q‘,GBT@ SR Q,sm_rr cneuuq,s ﬁx_l_ﬁﬁm [ 1 000 -
O;gugﬂ uwApni. auliq 6550 7% erafld 5 M@s@a@ e UITLDETF ng]m Q,srrana; aremen?
@), ®.62675 B : . (B @ ?26?5 _ '
© . © 1_0_,575 R Y () B Y 70,675 . '_

*



45.

39.

‘@) Rs. 50,000

A man took a loan from a bank at the rate of 12% p.a. simple interest. After 3 years he had
to pay Rs. 5,400 interest only for the period. The principal amount borrowed by h1m was

N ®s. 15000

(B) Rs. 10,000

(©)  Rs. 25,000

g gm akdladGis ¢ GO LS Agresmu Sardis 12% sgafllaily, cSssHd sLeamst

Qupdpni. apeny ETHET SPGE e ey Wb 5. 5,400 apem %GW@&S@&;@ Qsqss
GauemBw erafler ieur sLams Qudp AsTens

@) @ 15,000
®) . 10,000
© . 25,000
®O) . 50,000

A sum of money lent out at simple mterest amounts to ¥ 720 after 2 vears and to ¥ 1020
after a further period of 6 years. Find the interest rate %

(A) ® 9%

M 10% B | ®) 11%

a0 GOLELL sarang 2 garhaeiied T 720 gpead Wpg, Geéaayn 9@ 5 gyempeafia T 1020

. &b wTRdpg defld sige aily aissmgs srams. (el e gafl ai’ iy aer Gardra)

(A) 8% : O ® %
(C) 10% : D 11%

The simple interest on a sum of money for 3 years at 6% is Rs. 90. The simple interest on the
same sum for 6 years at 7% will be
A

(A 90 WY 210

(C) 270 (D) 180

6% alpubd 3 pa@sErsg @ Qstasta gafely @m. 90 aaflled 2Cs Qzreasss
6 e (HasEnsE 7% eully aldlsb erafler safleul iy ereucuare,?

(A) 90 . ® 210

(©) 270 (D) 180



12,

The diffefénce between ‘the interest received from two different banks on Rs. 500 for. 2 yéars, :
is Rs. 2.50. The difference between their rates is

@A) 1% , ; B) 0.5%

C) 25% , by y 0.25%

mumis 500 &, 2 anBsaie @ran® aundseler saflaulgssrar elsHunsid @: 2.50 Graﬂo'.).
Scuandlsailan ai_y aighsEnsda Cuurar clgHursd eraieuareay?

A 1% - : B) 0.5%
©) 2.5% ‘ D) 0.25%

The simple interest on a certain sum of money for 2 )4 years at 12% per annum is Rs. 20 less

than the simple interest on the same sum for 3, years at 10% per annum. Find the sum

\y( Rs. 400 (B)  Rs. 625

(C) Rs. 750 (D) Rs. 800

20 I Asrmsss QJ@LQJVqu. 12% eregibCGung) 2 Y% eumLsHd o sEn sefleu iqwimeng)
<G QsressE amLany 10% eaaCurg 3) amLsdd doLsgd safl euligmw el
. 20 G@pe| erafle) 2ibg grens ereiaudme,?

(A) e 400 (B) ¢m. 625

©) @ 750 (D) em. 800

The simple interest on a sum of money will be ¥ 200 after 5 year. In the next 5 year principal
amount is tripled. What will be the total interest at the end of the 10* year?

M Z 800 B) 650

(©) T1700 D) T 600

@@ Qsranssaran gl el gwrang 5 aumLsde gp. 200 s fpg. 2AHSS 5 - uBLEHL WS {H
Qgrenswneng 3 - wLmstding aafld 10 - am wyeld HaLsgb Qwrss el Qgrms
GTEUGUGTGY ?

(A) T 800 B) T 650

© 700 D) %600



-110.. A sum was put at s1mpIe mterest ata certam rate for 2- years Had 1t been put at’ 3% hlgher
' rate, it would have.fetched Rs 300 more. Find the sum. '

jnssooo S .® Ra4000
) Re 10000 (D) Rs.1000

9@ Gl,srrma;u_lrratg 2 Qbﬁﬁﬁ@&@&@ gaﬂmr_q eﬂaﬂ;g;@m Gsﬁmuu@ﬂg)g Y Qg,:rma; 3%
Sifawne gaflauly eipsdad G&L&&a;uuu_n_rrm - 300 Sifawns . iy eﬂmn.as@@msuﬂw
- Caflasiupw Glglra)a; GTeBen?” o

@ 5000 (B @ 4000

© ®1000 . O ©100



i51.

Let r% be the rate of interest pﬁid and P be the monthly instalment paid for n months

then maturity amount is?

' PNr
PN

@ 100

' 100

¢ PN+

©. R~

{Pn-&- PNr

100

100
Pre——"
_(D') . PNR

anlig eﬁgm r%é&@ LIsHGasTHID Q&gugsgm <SG ngma& ‘Prmn’ u)rrgsrmasen ngg@mgns&
Qaner_mé HanLH@Gh pfieys G]g,rrms Qemaumeudled

(d) PN+ PNr
" 00
© pN+290

PNr

PNr.

Pn+——

B T00
100

Pn+——0

(D) .. PNR



.94. A person deposited T 6,000 in a bank and received ¥ 7,500 at the end of 5 years. Find the

rate of interest, assuming that interest is simple interest.

@ 3% B 4%
%5% D 55%

emaf T 6,000 gm auriidulié Qegngd 5 cgbm'@aaﬁm (_Lplq.eﬁm ¥ 7,5008 Gugpmrrrr eraficd, euig
ipbangs anams. mn_u}am ;mﬂ ULty T QEMeTs. ' '

@& 3% : C® 4%

) 5% : D) 5.5%



